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.RQWULEXVL� XVDKD� NHFLO� GDQ�PHQHQJDK� VDQJDW� SHQWLQJ� GDODP�PHQGXNXQJ�
SHUWXPEXKDQ� HNRQRPL� ,QGRQHVLD��'DODP�NHODQJVXQJDQ�XVDKD� VDQJDW� GLEXWXKNDQ�
PDQDMHPHQ�\DQJ�EDLN��0DQDMHPHQ�KDUXV�PDPSX�GDODP�PHPSHUVLDSNDQ� ODSRUDQ�
NHXDQJDQ�VHKLQJJD�LQIRUPDVL�DNXQWDQVL�\DQJ�WHUNDQGXQJ�GDODP�ODSRUDQ�NHXDQJDQ�
WHUVHEXW�GDSDW�EHUPDQIDDW�EDJL�XVDKD��3HQHOLWLDQ� LQL�GLWXMXNDQ�XQWXN�PHQJHWDKXL�
PDQIDDW� LQIRUPDVL� DNXQWDQVL� EDJL� 8VDKD� .HFLO� GDQ� 0HQHQJDK� �8.0�� GL� NRWD�
3DGDQJ�� -HQLV� SHQHOLWLDQ� LQL� DGDODK� GHVNULSWLI� NXDOLWDWLI�� 3HQJXPSXODQ� GDWD�
GLODNXNDQ� GHQJDQ� ZDZDQFDUD� ODQJVXQJ� GHQJDQ� LQIRUPDQ� GHQJDQ� PHQJJXQDNDQ�
SDQGXDQ�ZDZDQFDUD�GDQ�GRNXPHQWDVL�� ,QIRUPDQ�GDODP�SHQHOLWLDQ� LQL�DGDODK� WLJD�
XVDKD�NHFLO�GDQ�PHQHQJDK��8.0��\DQJ�WHODK�PHQ\DMLNDQ�ODSRUDQ�NHXDQJDQ�\DQJ�
WHUGLUL�GDUL�ODSRUDQ�SRVLVL�NHXDQJDQ�GDQ�ODSRUDQ�ODED�UXJL��+DVLO�GDUL�SHQHOLWLDQ�LQL�
PHQXQMXNDQ� EDKZD� 8.0� WHODK� PHPDQIDDWNDQ� LQIRUPDVL� DNXQWDQVL� GDODP�
PHPEDQWX�PHPEXDW�NHSXWXVDQ�GDQ�SHUWDQJJXQJMDZDEDQ
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